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Exercices sur le tableau de KARNAUGH 

 

Exercice 1 

 

b a X 

0 0 1 

0 1 1 

1 0 1 

1 1 0 

 

X 
 a 

 
1 1 

b 
1 0 

X = a + b = ab    

 

 

 
 

c b a Y 

0 0 0 1 

0 0 1 1 

0 1 0 0 

0 1 1 0 

1 0 0 0 

1 0 1 0 

1 1 0 1 

1 1 1 1 

 

Y 
 b  a 

 
1 0 0 1 

c 
0 1 1 0 

Y = bc + b c = bc      

 

 

 

 
 

d c b a Z 

0 0 0 0 0 

0 0 0 1 1 

0 0 1 0 1 

0 0 1 1 1 

0 1 0 0 0 

0 1 0 1 1 

0 1 1 0 1 

0 1 1 1 1 

1 0 0 0 1 

1 0 0 1 0 

1 0 1 0 0 

1 0 1 1 1 

1 1 0 0 1 

1 1 0 1 1 

1 1 1 0 1 

1 1 1 1 0 

 

Z 
 b  a 

 
0 1 1 1 

d 1 0 1 0 

 
1 1 0 1 

c 
0 1 1 1 

ou 

 

Z 
 b  a 

 
0 1 1 1 

d 1 0 1 0 

 
1 1 0 1 

c 
0 1 1 1 

 

 

 

Z = a b d + a bc + bcd + ab c + bc d + abc + ac d  
ou 

 

Z = a b d + a cd + bcd + ab c + bc d + abc + ac d  
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ou 
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Exercice 2 

 

 
 

F1 
 b  a 

 
0 0 1 1 

c 
1 0 0 1 

F1 = ac + b c      

 

 

 
 

F2 
 b  a 

 
0 0 1 0 

c 
1 1 1 0 

F2 = ab + a c 

 

 

 

F3 
 b  a 

 
1 0 0 1 

d 0 1 1 0 

 
0 1 0 0 

c 
1 0 0 1 

 

F3 = a bd + bc d + b d  
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F4 
 b  a 

 
1 0 0 0 

d 1 0 1 1 

 
1 0 1 1 

c 
1 0 0 1 

 

F4 = a b + ad + ab c 

 

 

F5 
 b  a 

 
1 0 1 1 

d 0 0 0 0 

 
0 0 0 0 

c 
1 0 1 1 

 

F5 = b d + ad  

 

F6 = ab cd + abd + ab c + bcd + bc d + a bc 

F6 
 b  a 

 
0 0 1 1 

d 0 0 0 1 

 
0 1 0 0 

c 
0 1 1 1 

 

F6 = ad + ab c + a bc 

 

F7 = b cd + abc + b c + acd  

F7 
 b  a 

 
0 0 0 0 

d 0 0 0 0 

 
1 0 1 1 

c 
1 0 1 1 

 

F7 = ac + b c 

 

http://electroussafi.ueuo.com/

